Wednesday |3 January 202

LO: to be able find one less and one less than a number

Can you find one less than these numbers.
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One less than 12 is

One less than 15 is

One less than I8 is

sentences?’

Can Yyou use this number track to solve these
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Can you find use the bar models to find the answer?

©

12 -1 =

5 -1 =

6 -1 =

18 - | =




Can you fill in the spaces of the table?

£\ N
One less One more
3
5
9
8
16
sixteen
twenty
15
[0 12
/
18




Level k - Challenge Questions

Can you fill in these sentences’
The first one is done for You.

IL- is one more than |3

is one more than |5

is one more than |/

|7 is one more than

16 is one more than

20 is one more than

Can You, fill in these sentences with your own, ideas’

is one less than

is one less than

is one more than

is one more than




